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QUESTION 1
Given the exhibit, the MME is unable to retrieve authentication vector (AV) from the HSS and the initial UE attach fails.

Which of the following actions is useful for troubleshooting this problem?

# cmm nbiPing list --pingTarget 10.10.9.1 --pingScurcelIp 10.10.9.2

e — e e e e e e e e e e e e +
| nbiPing | pingOutput |
e e e e e e e e e e e e e e e +
| 10.10.9.1 | PING 10.10.9.1 (10.10.9.1) from 10.10.9.2 : 56(84) bytes of data.;64 bytes from 10.10.9.1: icmp_seg=l ttl=64

| | time=0.674 ms;64 bytes from 10.10.9.1: icmp seg=2 ttl=64 time 0.384 ms;64 bytes from 10.10.9.1: icmp ssg=3 ttl=64 |
I | time=0.427 ms;64 bytes from 10.10.9.1: icmp segq=4 ttl=64 time 0.495 ms;&4 bytes from 10.10.9.1: icmp_seg=5 ttl=64 |
| | time=0.426 ms;;--- 10.10.9.1 ping statistics ---;5 packets transmitted, 5 received, 0% packet loss, time 400lms;rtt |
| | minfavg/max/mdev = 0.384/0.481/0.674/0.1032 ms; |
S R ———— e e e e e o £ e e e e B +

# cmm multiLink list

e o o F o A o A e +
| multilink | linkInterfaceType | linkIndex | linkAdminState | linkOperationState | alarmState | remotelpl | remotelp2 |
A R +
| séad | séad | 0 | unlccked | unknown | none | 10.10.9.1 | 0.0.0.0 |
o ———— Fmm Frm e ——— Frm e e Fmm e ———— Tt [P +

A. Verify if the IMSI to HSS mapping list is configured properly.

B. Verify if a GTP profile is associated with the S6a interface.

C. Verify if the TAI value matches between the MME and the HSS.

D. Verify if the DNS server is provisioned to dynamically discover the HSS IP address.

Correct Answer: D

QUESTION 2

What information does eNodeB use to ensure MME load balancing during MME selection?
A. MME relative capacity value received from each MME in the pool

B. MME capacity value received from the UE attach request message

C. MME capacity value from the UE\\'s subscription data received from the HSS

D. MME relative capacity value calculated by each MME based on the current network load

Correct Answer: A

QUESTION 3

Given the exhibit, which component initiated a mobile-terminated location request (MT-LR) procedure for external LCS
client?
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e —

HSS

| T External LCS Client

EPC

E-UTRAN

-7  GMLC

MME

E-SMILC

A. MME

B. GMLC

C. E-SMLC

D. HSS

Correct Answer: D

Reference: https://www.google.com/url?
sa=tandrct=jandg=andesrc=sandsource=webandcd=andved=2ahUKEwiEuu_cmrnsAhXiD2MBHQUND3AQFjAAegQIBh

ACandurl=ftp%3A%2F%2Fwww.3gpp.org%2Ftsg_sa%2FWG5_TM%2FTSGS5_68%
2F _specs_for_checking%2Fupgrade%2F32271-900.docandusg=A0OvVawlw-IpeUNE8VTNAgojrdFa4

QUESTION 4

Which of the following statements regarding handover is FALSE?

A. Handover can occur when UE is in ECM-CONNECTED state

B. S1-based handover is used when X2-based handover attempt failed

C. During X2-based handover, MME may remain the same or be relocated

D. S1-based handover is used when there is no X2 interface between source and target eNodeBs
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Correct Answer: C

QUESTION 5

Which of the following is NOT performed by the MME during S1-based handover procedure?
A. MME determines if SGW relocation is required.

B. MME selects the target eNodeB for handover.

C. MME releases bearers that are not accepted by the target eNodeB.

D. MME checks if the handover is to restricted area based on the handover restriction list.

Correct Answer: C
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